®
MARSHALLTOWN
The PremierlLine

NAIL SPOTTER 2"

PART #

HNS #1
HNS #1A
HNS #2
HNS #2A
HNS #3
HNS #3A
HNS #4
HNS #4A
HNS #48
HNS #4C
HNS #7
HNS #8
HNS #9
HNS #10
HNS #10A
HNS #11
HNS #12
HNS #12A
HNS #13
HNS #14
HNS #14A
HNS #14B
HNS #14C
HNS #15
HNS #16
HNS #16A
HNS #17A
HNS#18
HNS#19
HNS#20

FA #214
FA #218
FA #228
FA #231
FA #233
FA #241
FA #247
FA #254
FA #271
FA #280
FA #314

QUANTITY
REQURIED

1

1
1
3
1
1
1
2
2
1
1
1
1
1
1
2
1
1
1
1
1
2
1
1
1
1
1
1
1
1

W = P = = o

—_ o =

M2NS
EDI-12298

NAILSPOTTER (2" M2NS & 3" M3NS)

RearPlate  2"or3
Mud Seal Strip 2" or 3"
Rollface 2" or 3"
Rollface Post
Sideplate Right 2" or 3"
Sideplate Left 2" or 3"
Door2"or 3"

Door Bushing
Door Hinge Rollpin
2" Door Plate (used for 2" size only)
MNS72 - Blade 2" or 3"
Blade Holder 2" or 3"
Face Plate 2" or 3’
Door Spring Long
Door Spring Short
Door Spring Nut
Handle Clamp
Handle Roll Pin
Roll Pin Bushing
Handle Spring
Handle Link
Handle Rivet
Handle Link Connector
MNS152 - Door Gasket 2" or 3"
Thumb Release Clip
Thumb Release Clip Screw
Handle Tightness Screw
Pivot
Triangle Shoe
Wedge

4-40 X 1/4" Flat Slot
4-40 X 3/8" Flat Slot
#6 Flat Washer
6-32 x 3/8" Hex Bolt
MFA233 - 6-32 Nyloc Nut
6-32 x 3/8" Binder Slot
6-32 x 5/8” Hex Bolt
MFA254 - 8/32 Nyloc Nut
10-24 Nyloc Nut
#10 Belleville Washer
10-24 x 1 %" Pan Slot



®
MARSHALLTOWN
The PremierlLine

NAIL SPOTTER 3"

PART #

HNS #1
HNS #1A
HNS #2
HNS #2A
HNS #3
HNS #3A
HNS #4
HNS #4A
HNS #4B
HNS #4C
HNS #7
HNS #8
HNS #9
HNS #10
HNS #10A
HNS #11
HNS #12
HNS #12A
HNS #13
HNS #14
HNS #14A
HNS #14B
HNS #14C
HNS #15
HNS #16
HNS #16A
HNS #17A
HNS#18
HNS#19
HNS#20

FA#214
FA#218
FA #228
FA #231
FA #233
FA #241
FA #247
FA #254
FA #271
FA #280
FA #314

QUANTITY

REQURIED
1

1
1
3
1
1
1
2
2
1
1
1
1
1
1
2
1
1
1
1
1
2
1
1
1
1
1
1
1
1

W = PP = = o

—_ o =

M3NS
EDI-12299

NAILSPOTTER (2" M2NS & 3" M3NS)

Rear Plate  2"or 3"
Mud Seal Strip 2" or 3"
Rollface 2" or 3"
Rollface Post
Sideplate Right 2" or 3"
Sideplate Left 2" or 3"
Door 2" or 3"

Door Bushing
Door Hinge Rollpin
2" Door Plate (used for 2’ size only)
MNS73 - Blade 2" or 3’
Blade Holder 2" or 3"
Face Plate 2" or 3"
Door Spring Long
Door Spring Short
Door Spring Nut
Handle Clamp
Handle Roll Pin
Roll Pin Bushing
Handle Spring
Handle Link
Handle Rivet
Handle Link Connector
MNS153 - Door Gasket 2" or 3"
Thumb Release Clip
Thumb Release Clip Screw
Handle Tightness Screw
Pivot
Triangle Shoe
Wedge

4-40 X 1/4" Flat Slot
4-40 X 3/8" Flat Slot
#6 Flat Washer
6-32 x 3/8" Hex Bolt
MFA233 - 6-32 Nyloc Nut
6-32 x 3/8" Binder Slot
6-32 x 5/8" Hex Bolt
MFA254 - 8/32 Nyloc Nut
10-24 Nyloc Nut
#10 Belleville Washer
10-24 x 1 12" Pan Slot



